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CHEMISTRY

BOOKS - SURA CHEMISTRY (TAMIL ENGLISH)

ATOMS AND MOLECULES

Textbook Evaluation Choose The Correct Answer

1. Which of the following has the smallest mass ?

A.6.023 x 10? atoms of He
B. 1 atom of He
C.2g of He

D. 1 mole atoms of He


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OZCeXyYRJ0vu

Answer: B

o Watch Video Solution

2. Which of the following is a triatomic molcule ?

A. Glucose

B. Gelium

C. Carban dioxide

D. Hydrogen

Answer: C

° Watch Video Solution

3. The Volume occupied by 4.4 g of CO, at S.T.P


https://dl.doubtnut.com/l/_OZCeXyYRJ0vu
https://dl.doubtnut.com/l/_62aDx3ynFpts
https://dl.doubtnut.com/l/_AWlNfsNSOJjA

A. 224 litre

B. 2.24 litre

C.0.24 litre

D. 01 litre

Answer: B

° Watch Video Solution

4. Mass of 1 mole of Nitrogen represents 1amu ?

A. 28 amu

B.14 amu

C.28g

D.14 g

Answer: D


https://dl.doubtnut.com/l/_AWlNfsNSOJjA
https://dl.doubtnut.com/l/_yaR9ZwdH1RyQ

° Watch Video Solution

5. Which of the following represents 1amu ?

A. Mass of a C-12 atom
B. Mass of a hydrogen atom
1
C. —— of the mass of a C-12 atom

1 2th

D. Mass of o- 16 atom

Answer: C

o Watch Video Solution

6. Which of the following statement is incorrect ?

A. One gram of C-12 contains avogdro's number of atoms.


https://dl.doubtnut.com/l/_yaR9ZwdH1RyQ
https://dl.doubtnut.com/l/_JBcgcog9ruRQ
https://dl.doubtnut.com/l/_oRRqOANB5ngS

B.One mole of oxygen gas contains Avogardro's number of

molecules .

C.One mole of hydrogen gas contains avogardro's number of

atoms .

D. One mole of electrons stands for 6.023 x 10?° electrons.

Answer: A

o Watch Video Solution

7.The Volume occupied by 1 mole of a diatomic gas at S.T.Pis

A. 11.2 litre

B. 5.6 litre

C.22.4 litre

D. 448 litre


https://dl.doubtnut.com/l/_oRRqOANB5ngS
https://dl.doubtnut.com/l/_5JQVmWYxThOS

Answer: C

° Watch Video Solution

8. In the nucleus of 200(140 , there are

A. 20 protons and 40 neutrons
B. 20 protons and 20 neutrons
C. 20 protons and 40 electrons

D. 40 protons and 20 electrons

Answer: B

o Watch Video Solution

9. The gram molecular mass of oxygen molecules is


https://dl.doubtnut.com/l/_5JQVmWYxThOS
https://dl.doubtnut.com/l/_LK8kCsEIRRpu
https://dl.doubtnut.com/l/_fI333JCPThN9

Al6g

B.18 g

C.32g

D.17 g

Answer: C

° Watch Video Solution

10. 1 Mole of any substance contains molecules .

A. 6.023 x 10?

B.6.023 x 10~ 23

C.3.0115 x 10%*

D.12.046 x 10

Answer: A


https://dl.doubtnut.com/l/_fI333JCPThN9
https://dl.doubtnut.com/l/_qXltVrXly04N

o Watch Video Solution

Textbook Evaluation Fill In The Blanks

1. Atoms of different elements having mass number , but

o Watch Video Solution

2. Atomic of different element having same number of are

called isotones .

° Watch Video Solution

3. Atoms of one element can be transmuted into atoms of other

element by .



https://dl.doubtnut.com/l/_qXltVrXly04N
https://dl.doubtnut.com/l/_OW4AW52oe9lZ
https://dl.doubtnut.com/l/_QJgRatdRh1HA
https://dl.doubtnut.com/l/_jC3XRNt66aPb

| ° Watch Video Solution

4. The sum of the numbers of protons and neutrons of an atom is

called its

° Watch Video Solution

5. Relative atomic mass of otherwise known as

° Watch Video Solution

6. The average atomic mass of hydrogen is amu .

o Watch Video Solution



https://dl.doubtnut.com/l/_jC3XRNt66aPb
https://dl.doubtnut.com/l/_CEp4QYvUIYNf
https://dl.doubtnut.com/l/_3sAdQY1oiZH7
https://dl.doubtnut.com/l/_UhIgLuSdH9JW

7. If a molecule is made of similar kind of atoms , then it is called

_atomic molecules .

o Watch Video Solution

8. The number of atoms present in a molecule is called its

o Watch Video Solution

9. One mole of any gas occupies ml at S.T.P

o Watch Video Solution

10. Atomicity of phosphorousis

° Watch Video Solution



https://dl.doubtnut.com/l/_TLOJTRQJFbpr
https://dl.doubtnut.com/l/_eQdjpCj8lxWC
https://dl.doubtnut.com/l/_YpM6eVynG0tF
https://dl.doubtnut.com/l/_BhmGLlztlA89

Textbook Evaluation Match The Following

1.l

o View Text Solution

Textbook Evaluation State Whether The Following Statements Are True

Or False If False Correct The Statement

1. Two elements sometimes can form more than one compound .

o Watch Video Solution

2. Noble gases are Diatomic

o Watch Video Solution



https://dl.doubtnut.com/l/_9MSHH6bFmDRM
https://dl.doubtnut.com/l/_p8GdY6LTODNd
https://dl.doubtnut.com/l/_aGHR90a6BApV
https://dl.doubtnut.com/l/_BrOimY2A7luu

3. The gram atomic mass of an element has no unit

o Watch Video Solution

4.1 mole of Gold and silver contain same number of atoms

° Watch Video Solution

5. Molar mass of CO, is 42 g.

o Watch Video Solution

Textbook Evaluation Assertion And Reason

1. Assertion : atomic mass of aluminium is 27

of the

Reason : an atom of aluminium is 27 times heavier than ™
12


https://dl.doubtnut.com/l/_BrOimY2A7luu
https://dl.doubtnut.com/l/_VYZK1QXCth5E
https://dl.doubtnut.com/l/_jQb5ETxYpqA5
https://dl.doubtnut.com/l/_m1yB0AhQ7Col

mass of the C- 12 atom..

A. A and R are correct . R explains the A.

B. Ais correct ,R is wrong .

C.Ais wrong,Ris correct

D. A and R are correct , R doesn't explains A.

Answer: D

o Watch Video Solution

2. Assertion : the relative molecular mass of chlorine is 35.5 a.m.u

Reason : the natural abundance of chlorine isotopes are not equal .

A. A and R are correct . R explains the A.

B. Ais correct ,R is wrong .

C.Ais wrong ,Ris correct


https://dl.doubtnut.com/l/_m1yB0AhQ7Col
https://dl.doubtnut.com/l/_xalX4HRuX0mp

D. A and R are correct , R doesn't explains A.

Answer: C

o Watch Video Solution

Textbook Evaluation Short Answer Questions

1. Define relative atomic mass .

o Watch Video Solution

2. Write the different types of isotopes of oxygen and its percentage

abundance.

o Watch Video Solution



https://dl.doubtnut.com/l/_xalX4HRuX0mp
https://dl.doubtnut.com/l/_bCQHWDoFFooO
https://dl.doubtnut.com/l/_iS2LemM1xJ6J

3. Define atomicity .

o Watch Video Solution

4. Give any two example for heterodiatomic molecules .

° Watch Video Solution

5. Define molar volume.

o Watch Video Solution

6. Find the percentage of nitrogen in ammonia

° Watch Video Solution



https://dl.doubtnut.com/l/_wjpOUuQVfVBO
https://dl.doubtnut.com/l/_dE586NWpFPRg
https://dl.doubtnut.com/l/_yG02NHPqXcwL
https://dl.doubtnut.com/l/_qKpBILncfm3p

Textbook Evaluation Long Answer Questions

1. Calculate the number of water molecules present in one drop of

water which weights 0.18 g.

o Watch Video Solution

2. N2 + 3H2 — 2NH3

The atomic mass of nitrogen is 14, and that of hydrogen is 1)

1mole of nitrogen ( g )+
3 mole of hydrogen (_ g) —
2 moles of ammonia g)

o Watch Video Solution

3. Calculate the number of moles in

27 g of Al


https://dl.doubtnut.com/l/_CqexYxcw6vrw
https://dl.doubtnut.com/l/_A9Dr9tBxQZXy
https://dl.doubtnut.com/l/_lVoBJDrUGqnW

o Watch Video Solution

4, Calculate the number of moles in

1.51 x 10* Molecules of NH,CI

° Watch Video Solution

5. Give the salient features of " Modern atomic theory ".

o Watch Video Solution

6. Derive the relationship between relative molecular mass and

Vapour density.

° Watch Video Solution



https://dl.doubtnut.com/l/_lVoBJDrUGqnW
https://dl.doubtnut.com/l/_niWzpd6uQvSU
https://dl.doubtnut.com/l/_T5PEzXlVZebo
https://dl.doubtnut.com/l/_iWVODlpvRR9S

Textbook Evaluation Hot Question

1. Calcium carbonate is decomposed on heating in the following
reaction
CaCO3 — CaO + CO,

How many moles of Calcium carbonate are involved in this reaction

?

o Watch Video Solution

2. Calcium carbonate is decpmposed on heating in the following
reaction

CaCO3 — CaO + CO,

Calculate the gram molecular mass of calcium Carbonate involved in

this reaction .

° Watch Video Solution



https://dl.doubtnut.com/l/_nOf2RPqDkp38
https://dl.doubtnut.com/l/_KjfJqoAbVM3W

3. Calcium carbonate is decpmposed on heating in the following

reaction
CaCO3 — CaO + CO,

How many moles of C'O, are there in this equation ?

o Watch Video Solution

Textbook Evaluation Solve The Following Problems

1. How many grams are there in the following ?

2 moles of hydrogen molecule , H

o Watch Video Solution

2. How many grams are there in the following ?

3 moles of chlorine molecule , Cl,



https://dl.doubtnut.com/l/_YqfYLORu6oT5
https://dl.doubtnut.com/l/_QIOjSgChyYBw
https://dl.doubtnut.com/l/_TIoGf71vU93S

| o Watch Video Solution

3. How many grams are there in the following ?

5 moles of sulphur molesule , Sg

° Watch Video Solution

4. How many grams are there in the following ?

4 moles of phosphorous molecules , P,

° Watch Video Solution

5. Calculate the % of each element in calcium carbonate. (Atomic

mass: C-12, 0-16, Ca-40)

° Watch Video Solution



https://dl.doubtnut.com/l/_TIoGf71vU93S
https://dl.doubtnut.com/l/_QI3Q3ZUSE7Mn
https://dl.doubtnut.com/l/_Mk6GQLtie9V8
https://dl.doubtnut.com/l/_1pWBLeesc16D
https://dl.doubtnut.com/l/_mHvQkCZYjT1e

6. Calculate the % of oxygen in Aly(SOy),.

(Atomic mass :Al — 12, 0 — 16, S — 32)

° Watch Video Solution

7. Calculate the % relative abundance of B-10 and B-11, if its average

atomic mass is 10 .804 amu .

o View Text Solution

Government Exam Questions Answers

1. Calculate the mass of 1.51 x 10?3 molecule of H,O.

o Watch Video Solution



https://dl.doubtnut.com/l/_mHvQkCZYjT1e
https://dl.doubtnut.com/l/_S7nEaXEbOxk7
https://dl.doubtnut.com/l/_WAMcLa0BiIvX

2. Calculate the moles of 46 g sodium .

o Watch Video Solution

3. calculate the number of molecules present in the 36 g water .

° Watch Video Solution

Additional Questions Answer Choose The Correct Answer

1. The mass of an atom in measured in __

A. kg

B.amu

C.g

D. Pm


https://dl.doubtnut.com/l/_0ZKA70ESRLm0
https://dl.doubtnut.com/l/_TG5q7eztncJV
https://dl.doubtnut.com/l/_5EPdEu0ZD9Xt

Answer: B

° Watch Video Solution

2. Atoms of different elements with different atomic numbers , but

same mass number are known as __

A.isobars

B. isotopes

C.isotones

D. isomers

Answer: A

o Watch Video Solution

3. Pick out the isotopes among the following pairs


https://dl.doubtnut.com/l/_5EPdEu0ZD9Xt
https://dl.doubtnut.com/l/_eHQk3wfEMEJ4
https://dl.doubtnut.com/l/_lMv2bYYODEQj

A. 6013, 7N14
B. 18AT40, 200&40
C.cC, CH

12 13
D.; B2, ,C

Answer: C

° Watch Video Solution

4. Which among the following is a homo atomic molecule ?

A N,

B. NH;

C.HCI

D. N,O

Answer: A


https://dl.doubtnut.com/l/_lMv2bYYODEQj
https://dl.doubtnut.com/l/_fFegjqFKhAm8

° Watch Video Solution

5. Identify the 'hetero nuclear tri atomic molecules ' among the

following .

A P,

B. Hy50,

C.CO,

D. O,

Answer: D

o Watch Video Solution

6. Mass number is the

A. Number of protons


https://dl.doubtnut.com/l/_fFegjqFKhAm8
https://dl.doubtnut.com/l/_hfNN3xSqobII
https://dl.doubtnut.com/l/_ldXjZ3L4xCnd

B. Sum of protons and electrons

C. Number of neutrons

D. Sum of protons and neutrons

Answer: D

o Watch Video Solution

7. Which of the following statement regarding an atom is always

correct ?

A. An atom has equal number of electrons and protons

B. An atom has equal number of electrons and neutrons

C. An atom has equal number of electrons protons and neutrons

D. An atom has equal number of protons and neutrons

Answer: A



https://dl.doubtnut.com/l/_ldXjZ3L4xCnd
https://dl.doubtnut.com/l/_6BumavtZE4jS

o Watch Video Solution

8. Atomicity of chlorine and Neon is

A. Mono atomic and mono atomic

B. Mono atomic and diatomic

C.diatomic and diatomic

D. Diatomic and mono atomic

Answer: D

° Watch Video Solution

9. Mass of an electron is

A.9.1083 x 10 3 Kg

B.9.1083 x 10 **Kg


https://dl.doubtnut.com/l/_6BumavtZE4jS
https://dl.doubtnut.com/l/_CSkKJPQUAHrS
https://dl.doubtnut.com/l/_CYskAlKdTf2n

C.1.67262 x 10" KG

D.1.67 x 10~ %‘gm

Answer: A

o Watch Video Solution

10. Which of the following pairs are isotopes ?

A. Oxygen and ozone

B. Ice and water

C.NO and NOj

D. Hydrogen and deuterium

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CYskAlKdTf2n
https://dl.doubtnut.com/l/_u7XN3TMNi6XP
https://dl.doubtnut.com/l/_GXsxl9wJIdCN

11. The atomic number of an element is 12 and its mass number is 24.

The number of elecetrons , protons and neutrons respectivity will be

A 12,12,24

B. 24,12,12

C. 12,0212

D. 12,2412

Answer: C

o Watch Video Solution

12. An atom which has a mass number of 14 and 8 neutrons is an

A.isotopes is an

B. isotope of oxygen

C.isotope of carbon


https://dl.doubtnut.com/l/_GXsxl9wJIdCN
https://dl.doubtnut.com/l/_DxzFkK2Sryku

D. isobar of carbon

Answer: C

o Watch Video Solution

13. Which of the following has an equal number of neutrons and

protons?

A. protium

B. deuterium

C. tritium

D. Magnesium

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DxzFkK2Sryku
https://dl.doubtnut.com/l/_QEmxtLKzQyTx
https://dl.doubtnut.com/l/_Jieuzl9mb6kY

14. An atom of an element has 13 electrons and mass number 27. the

nucleus of this atom contains neutrons.

A. 26

B.13

C.14

D. 27

Answer: C

° Watch Video Solution

15. The relative atomic masses of many elements are not whole

number because

A. they are not determined accurately

B. they exist as isotopes


https://dl.doubtnut.com/l/_Jieuzl9mb6kY
https://dl.doubtnut.com/l/_7rZx1jspJWdp

C.due to impurities

D. atoms ionize

Answer: B

o Watch Video Solution

16. The smallest particle of an element which involue in a chemical

reaction is

A. Atom

B. molecule

C. mole

D. Avogaro's molecule

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7rZx1jspJWdp
https://dl.doubtnut.com/l/_o9UTBVuEiZlN

17.1,C13°, 1,C7" from the pair of

A. Isotope
B. isonar
C.isotone

D. isomer

Answer: A

o Watch Video Solution

18. Isotones have equal number of

A. Proton
B. Electron

C. Neutron


https://dl.doubtnut.com/l/_o9UTBVuEiZlN
https://dl.doubtnut.com/l/_PQsPyWD2fQA6
https://dl.doubtnut.com/l/_QkMnks3C3Efr

D. atom

Answer: C

° Watch Video Solution

19. The atomicity of chlorine is

Al

B.4

C.8

D. 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QkMnks3C3Efr
https://dl.doubtnut.com/l/_Ypq3nLPEO8A1

20. Total number of atoms in 4g of oxygen molecules is

A 6.023 x 10?3
B.7.52 x 10%2
C.1.5055 x 10%

D.0.752 x 10?3

Answer: B

o Watch Video Solution

21. Which of the following contains maximum number of molecules ?
A. 1gofN,
B.1gofCO,

C.1lgofH,



https://dl.doubtnut.com/l/_6BecpHWcOHpd
https://dl.doubtnut.com/l/_OBJXiYxV9fms

D. 1gofO,

Answer: C

o View Text Solution

22. What is the mass of 12.044 x 10?3 number of O, molecules ?

A.8g
B. 16g
C.32¢g

D.64 g

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OBJXiYxV9fms
https://dl.doubtnut.com/l/_j6MscPAm7s7q

23.The total number of electrons present in 16 g of methane gas is

A. 96.352 x 10

B.48.176 x 10%

C.6.023 x 10*

D.30.11 x 10

Answer: C

o Watch Video Solution

24. The number of atoms in 0.1 mole of a triatomic gas is

A. 6.023 x 10?2

B.1.806 x 10?3

C.3.6 x 10%


https://dl.doubtnut.com/l/_b1mP93AF64p5
https://dl.doubtnut.com/l/_Qj9oupcMYkql

D.1.8 x 10?2

Answer: B

o Watch Video Solution

25.The number of particles present in one mole of any substance is

equal to

A. 6.023 x 10%

B.60.23 x 10%

C.6.023 x 10%7

D. 60.23 x 10%7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Qj9oupcMYkql
https://dl.doubtnut.com/l/_H00pygo8k43w
https://dl.doubtnut.com/l/_f3wmVDMacQTG

26. Total number of molecules in 44gof CO, is

A. 6.023 x 10%

B.6.023 x 10%*

C.1.806 x 10*

D.18.06 x 10%2

Answer: A

o Watch Video Solution

27. What mass of hydrogen and oxygen will be produced

complete electrolysis of 18 g of water

A.2 g hydrogen and 32 g oxygen

B. 2 g hydrogen and 16 h oxygen

C.4 g hydrogen and 32 g oxygen

on


https://dl.doubtnut.com/l/_f3wmVDMacQTG
https://dl.doubtnut.com/l/_mqlB9RP91t5u

D. 4 g hydrogen and 14 ocygen

Answer: B

o Watch Video Solution

28. Which of the following contains maximum number of molecules

A.1g ofCO,

B.1g of N,

C.1 gOfH2

D.1gof CH,

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_mqlB9RP91t5u
https://dl.doubtnut.com/l/_LkRTSZmzBhNy

29. Which of the following correctly represent 360 g of water ?
(i) 2 mole of H,O
(ii) 20 moles of water
(444)6.023 x 10%* molecules of water
(iv) 1.2046 x 10°* molecule of water
A. (i)
B. (i) and (iv)
C. (ii) and (iii )

D. (i)

Answer: D

o Watch Video Solution

30. Which of the following has largest number of particels ?


https://dl.doubtnut.com/l/_0u7rTmYtEx54
https://dl.doubtnut.com/l/_SMSonfAUG5Fm

A.8g of CH,

B.4.4g0f CO,

C. 342gOf 012H22011

D.2gof H,

Answer: D

° Watch Video Solution

31. The number of molecules in 16.0 g of oxygen is :

A. 6.023 x 10?

B.6.023 x 10~ 23

C.3.0l x 102

D.3.0115 x 10

Answer: D


https://dl.doubtnut.com/l/_SMSonfAUG5Fm
https://dl.doubtnut.com/l/_OIYliNRoreIe

° Watch Video Solution

32. The mass of sodium in 11.7 g of sodium chloride is :

A.23g

B.46¢g

C.69g

D.7.58 g

Answer: B

o Watch Video Solution

33. The formula of a chloride of a metal M is M3, the formation of

the phosphate of metal M will be :

A. MPO,


https://dl.doubtnut.com/l/_OIYliNRoreIe
https://dl.doubtnut.com/l/_pQHjizhpNgmS
https://dl.doubtnut.com/l/_MRNxSFgRoMME

B. M, PO,
C. M3 PO,

D.2(PO,),

Answer: A

o View Text Solution

34. Which of the following contains the largest number of molecules

?

A.0.2molH,

B.8.0gH,

C.17gofH50

D. 60gofCO,

Answer: B



https://dl.doubtnut.com/l/_MRNxSFgRoMME
https://dl.doubtnut.com/l/_ZKvNvCnaMh6i

° View Text Solution

35. One gram of which of the following contains largest number of

oxygen atoms ?

A.O

B. O,

C.O;

D. All contains same

Answer: C

° Watch Video Solution

36. One mole of a gas occupies a volume of 22.4 | . This is derived

from :


https://dl.doubtnut.com/l/_ZKvNvCnaMh6i
https://dl.doubtnut.com/l/_atifE0H1FSYy
https://dl.doubtnut.com/l/_2CFxhCNLKSeZ

A. Berzelius 's Hypothesis

B. Gay-Lussac's law

C. Avogardro's law

D. Dalton's law

Answer: C

° View Text Solution

37. A group of atoms chemically bonded togetheris a (an):

A. Molecule

B. atom

C.Salt

D. Element

Answer: A


https://dl.doubtnut.com/l/_2CFxhCNLKSeZ
https://dl.doubtnut.com/l/_s1wZiXgVOyoT

° Watch Video Solution

38. The mass of one C atom is :

A.6.023 x 10%g
B.1.99 x 10~ %3¢
C. 2.00g

D.12g

Answer: B

o Watch Video Solution

39. Adding electrons to an atom will result in a (an ) :

A. Molecule

B. Anion


https://dl.doubtnut.com/l/_s1wZiXgVOyoT
https://dl.doubtnut.com/l/_6GIQfyJ2A4Dn
https://dl.doubtnut.com/l/_9DMBMcy9HQZg

C. Cation

D. Salt

Answer: B

o View Text Solution

40. The molecule formula P,O5 means that :

A. A molecule contains 2 atoms of P and 5 atoms of O

B. The ratio of the mass of P to the mass of O in the molecule is

2:5

C.There are twice as many P atoms in the molecule as there are

O atoms

D. The ratio of the mass of P to the mass of O in the molecule is 5


https://dl.doubtnut.com/l/_9DMBMcy9HQZg
https://dl.doubtnut.com/l/_2cR5iNUmEqLw

Answer: A

o Watch Video Solution

41. The weight of a molecule of the compound CgyH9s is :

A.1.4 x 10~ 2Yg
B.1.09 x 10~ 24
C.5.025 x 10%g

D.16.023 x 10%g

Answer: A

o Watch Video Solution

42. The total number of atoms represented by the compound

CuSO,. 5H,0 is



https://dl.doubtnut.com/l/_2cR5iNUmEqLw
https://dl.doubtnut.com/l/_4sNN8bcEx3af
https://dl.doubtnut.com/l/_FiPK6vKGgtj1

A. 27

B. 21

C.5

D.8

Answer: B

o Watch Video Solution

43. The volume occupied by 4.4 g of CO, at STPis :

A 2241

B.2.24 |

C.0.224 |

D.01l

Answer: B


https://dl.doubtnut.com/l/_FiPK6vKGgtj1
https://dl.doubtnut.com/l/_mqhzfKNsjphH

° View Text Solution

44.\olume of a gas at STP is 1.12 X 10~ 7. calculate the number of
molecules in it :

A. 3.01 x 10%°

B.3.01 x 10"

C.3.01 x 10%

D.3.01 x 10*

Answer: B

° Watch Video Solution

45. The number of molecules of CO, present in 44 g of CO, is :

A 6.023 x 10?3


https://dl.doubtnut.com/l/_mqhzfKNsjphH
https://dl.doubtnut.com/l/_SpCMULbN5Uof
https://dl.doubtnut.com/l/_zeQGz7eAHZj3

B.3 x 10%

C.12 x 10%

D.3 x 10'°

Answer: A

o Watch Video Solution

46. How many molecule are present in one gram of hydrogen ?

A 6.023 x 10?3
B.3.0115 x 10%
C.2.5 x 10?

D.1.5 x 10?3

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_zeQGz7eAHZj3
https://dl.doubtnut.com/l/_Iid9dtoamOr4

47. Which of the following is a diatomic molecule ?

A.CO

B.CO,

C.S0;

D. POy

Answer: A

o View Text Solution

48. Aromicity of Sulphur is

Al

B.2


https://dl.doubtnut.com/l/_Iid9dtoamOr4
https://dl.doubtnut.com/l/_fzV53ZgDmNK5
https://dl.doubtnut.com/l/_uXm3gBkHKIaQ

C.4

D.8

Answer: D

o Watch Video Solution

49. Which of the following has the highest number of molecule ?

A.2gofH,

B. 34.290f012H22011

C. 44g0f002

D. 8g0 £SO,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uXm3gBkHKIaQ
https://dl.doubtnut.com/l/_E0DZbfK3U5XY
https://dl.doubtnut.com/l/_An8uCpg5cps1

50. Isotopes have

A. Same physical properties and differenet chemical properties

B. Same chemical properties and different physical properties

C. Same physical and chemical properties

D. Different physical and chemical properties

Answer: B

o Watch Video Solution

51. The vapour density of the Helium gas is

A.Equal to 1

B. less than 1

C. Greater than 1


https://dl.doubtnut.com/l/_An8uCpg5cps1
https://dl.doubtnut.com/l/_JUO4xKN4wIcn

D.O

Answer: C

o Watch Video Solution

52. The gram molecular mass of CO, is

Al6g

B.18 g

C.44¢g

D.17g

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JUO4xKN4wIcn
https://dl.doubtnut.com/l/_ALe79uS4oncR

53.2 x Vapour density is equal to

A. Gram molecular weight

B. Relative molecular weight

C. Atomic weight

D. Gram atomic weight

Answer: B

° Watch Video Solution

Additional Questions Answer Fill In The Blanks

1. The mass of the molecule of an element or compound is measured

° Watch Video Solution



https://dl.doubtnut.com/l/_Lo8CKClVk0Bm
https://dl.doubtnut.com/l/_Q6Gk0NjY0Mtj

2. The value of Avogardro's number is

o Watch Video Solution

3. is the smallest indivisible entity of matter .

° Watch Video Solution

o Watch Video Solution

5.Isotopes have same _ butdifferent

° Watch Video Solution



https://dl.doubtnut.com/l/_Q6Gk0NjY0Mtj
https://dl.doubtnut.com/l/_RWCIJh5XYSjW
https://dl.doubtnut.com/l/_RTElAqX6xW7k
https://dl.doubtnut.com/l/_xPJrstGvVVk9
https://dl.doubtnut.com/l/_y4HGeoVSI9EF
https://dl.doubtnut.com/l/_tW5R1qOg5w4t

6. The mass of an atom is concentrated in a small region of space

called the

o View Text Solution

7. The subatomic particle which is not present in hydrogen atom is

° Watch Video Solution

8. Anything that has mass and occupies space is called

o Watch Video Solution

9. The number of electrons present in hydrogen atomis

o Watch Video Solution



https://dl.doubtnut.com/l/_tW5R1qOg5w4t
https://dl.doubtnut.com/l/_W07yCQOuiF90
https://dl.doubtnut.com/l/_EnX8VyLUdkPK
https://dl.doubtnut.com/l/_lXcaMKUxjaBK

10. Atomicity of oxygen is

o Watch Video Solution

11. HCl is an example of molecule .

o Watch Video Solution

12. An example of homotriatomic molecule is

o Watch Video Solution

13. Gram molar mass of H,O'is

° Watch Video Solution



https://dl.doubtnut.com/l/_lXcaMKUxjaBK
https://dl.doubtnut.com/l/_pnSTmjxtQwyl
https://dl.doubtnut.com/l/_1GS7jl1LRzaN
https://dl.doubtnut.com/l/_ML9LLRmJSU5U
https://dl.doubtnut.com/l/_hSlJxqUk7ahs

14. The allotrope of oxygen is

o Watch Video Solution

15. Relative molarcular mass of sulphuricacidis

° Watch Video Solution

16. One mole of any gas at STP occupies

° Watch Video Solution

17. Atoms of the same element may have different

° Watch Video Solution



https://dl.doubtnut.com/l/_RZJgiqHmbmPC
https://dl.doubtnut.com/l/_GzSIvSwMdtSg
https://dl.doubtnut.com/l/_jaXlJ0G10Fg4
https://dl.doubtnut.com/l/_4w8k3f65wTUU

o Watch Video Solution

19. The atomic mass of an element is expressed in grams is known as

o Watch Video Solution

20. The smallest particle of an element which involue in a chemical

reaction is

o Watch Video Solution



https://dl.doubtnut.com/l/_caRyKaKNgouQ
https://dl.doubtnut.com/l/_FKR9bc2fkw7V
https://dl.doubtnut.com/l/_yHFlM4smftpu

21. Number of protons and number of electrons are always equal in

o Watch Video Solution

22. Atoms of same element has same number of

o Watch Video Solution

23.Hydrogen has _ isotopes.

o Watch Video Solution

24. The molecule is made similar kind of atoms is called

° Watch Video Solution



https://dl.doubtnut.com/l/_s1uBSD2dxw1P
https://dl.doubtnut.com/l/_lMc89qKqvknR
https://dl.doubtnut.com/l/_MIqeLn5VfuWc
https://dl.doubtnut.com/l/_v6HFTG3OGOzP

25. The molecule that consist of atoms of different elements are

called  molecule.

o Watch Video Solution

26. The molecules contains more than two atoms are called

molecule.

o Watch Video Solution

27. Atom was proposed by .

o Watch Video Solution

28.The symol ' amu "u' denotes unified

o Watch Video Solution



https://dl.doubtnut.com/l/_8eBwnRfy5EiU
https://dl.doubtnut.com/l/_cSgHEbXz36Gn
https://dl.doubtnut.com/l/_zTpkIrcJROsU
https://dl.doubtnut.com/l/_wuhpU9GiihKT

29. The gram atomic mass of an element is expressed in

o Watch Video Solution

30.Acompoundisa____ molecule.

° View Text Solution

31. STP means

o Watch Video Solution

32. One mole of oxygen contains atoms of oxygen

o View Text Solution



https://dl.doubtnut.com/l/_wuhpU9GiihKT
https://dl.doubtnut.com/l/_uGOzogGM1W1J
https://dl.doubtnut.com/l/_diMWSqQUBb6v
https://dl.doubtnut.com/l/_WwaFa20C5gtE
https://dl.doubtnut.com/l/_QiVOC6SMpUc3

33. The volume occupied by one mole of any gas at STP is called as

o View Text Solution

34. The mass of one mole of a compound at STP is equal to its

o Watch Video Solution

35. Gram molar volume of all gases can be determined by

o Watch Video Solution

36. Matter is made up of _

o Watch Video Solution



https://dl.doubtnut.com/l/_oHFqgPKARotc
https://dl.doubtnut.com/l/_lm49ejFjQvCh
https://dl.doubtnut.com/l/_KjYfzGyror8d
https://dl.doubtnut.com/l/_9kHq6wgKfVJS

37. Atoms of the same element may have different

o Watch Video Solution

38. Atoms of different elements may have atoms masses .

o Watch Video Solution

39. are the building block of matter .

o Watch Video Solution

40. An atom contains particles such as protons , neutrons

and electrons .

| o Watch Video Solution


https://dl.doubtnut.com/l/_9kHq6wgKfVJS
https://dl.doubtnut.com/l/_ALlJwVbZxv7a
https://dl.doubtnut.com/l/_9DOsdcLoKVYX
https://dl.doubtnut.com/l/_bRbS2N283Pib
https://dl.doubtnut.com/l/_qv7KLkVYhdHR

41. Protons and neutrons have considerable

o Watch Video Solution

42.The mass of a proton or neutron is approximately amu .

o Watch Video Solution

43. Relative atomic mass of otherwise known as

o Watch Video Solution

44, is the smallest particle that takes part in a chemical

reaction .

| o Wiak~hh \tAAA CAliikian



https://dl.doubtnut.com/l/_qv7KLkVYhdHR
https://dl.doubtnut.com/l/_qYaLWm7xgAmR
https://dl.doubtnut.com/l/_jRYldOwAsPpC
https://dl.doubtnut.com/l/_gWEKdJmHX99Q
https://dl.doubtnut.com/l/_nPP1FrB5wHqP

L VyvUilll ViIVMLY JVIUVLGIVIEE )

45, The mass of an atom can be converted into

° Watch Video Solution

46. Anything that has mass and occupies space is called

° Watch Video Solution

47. Electrons does't have considerable

° Watch Video Solution

48. The sum of the number of and of an atoms is called its

mass number .



https://dl.doubtnut.com/l/_nPP1FrB5wHqP
https://dl.doubtnut.com/l/_eeE1DfMXWtZy
https://dl.doubtnut.com/l/_O6uwZTrfvk9c
https://dl.doubtnut.com/l/_m3lrBydLIvAz
https://dl.doubtnut.com/l/_OOSwWkb9Bgn7

L_—___yvatch video >oiution )

49, The mass of an atom is measured in

o Watch Video Solution

50. Atomic mass unit is of the mass of a carbon 12 atom .

o View Text Solution

51.Isotope of carbon ,contains _ protonsand __ neutrons.

o Watch Video Solution

52. Modern method of determination of atomic mass by ~ uses

C-12 as standard.

s |


https://dl.doubtnut.com/l/_OOSwWkb9Bgn7
https://dl.doubtnut.com/l/_yqXkJx1t7k8Y
https://dl.doubtnut.com/l/_4jcasfIFOR2A
https://dl.doubtnut.com/l/_F38AQLQMWnLT
https://dl.doubtnut.com/l/_6VjVWjQHoaU3

| o VWatch Viaeo Solution ]

53. The atomic mass of an element expressed in grams is called as

o Watch Video Solution

54. is the most abundant element in the Earth's Crust .

o Watch Video Solution

55. The molecule that consist of atoms of different elements is

called  molecules.

o Watch Video Solution



https://dl.doubtnut.com/l/_6VjVWjQHoaU3
https://dl.doubtnut.com/l/_L8AMTHojOZR1
https://dl.doubtnut.com/l/_CbTtHcyU5oDK
https://dl.doubtnut.com/l/_kE0mu11JAstD

56. gas exists in two allotropic forms.

o Watch Video Solution

57. According to Modern atomic theory, an atom is

° Watch Video Solution

58. Isotopes differ in

o Watch Video Solution

59. Isobars differ in

° Watch Video Solution



https://dl.doubtnut.com/l/_hkkD9uRB6RSC
https://dl.doubtnut.com/l/_9qh3ywBBNA5v
https://dl.doubtnut.com/l/_boe0z2jU3SFw
https://dl.doubtnut.com/l/_HOpLW5IaWy7z

60.1,CI* and {,C0*" are

o Watch Video Solution

61. 13 A7Y and 59Ca* are

° Watch Video Solution

62. Mass of an atom is mainly contributed equal to

o Watch Video Solution

63. The mass of a proton present in a molecule is called its

° Watch Video Solution



https://dl.doubtnut.com/l/_tGoyvaigPG5y
https://dl.doubtnut.com/l/_TTYojB9btyLR
https://dl.doubtnut.com/l/_LCG48EqlFO6Y
https://dl.doubtnut.com/l/_3mDqMyBtymT1

64. The number of atoms present in a molecule is called its _

o Watch Video Solution

65. Carbon monoxide is

° Watch Video Solution

66. Atomicity of carbondioxide is

o Watch Video Solution

67. Phosphorus molecule is a

° Watch Video Solution



https://dl.doubtnut.com/l/_wiLpiXrbeiwf
https://dl.doubtnut.com/l/_XAGJJBVXu2yH
https://dl.doubtnut.com/l/_am5ylb2GCrEw
https://dl.doubtnut.com/l/_WpyRTpE5Umoi

68. Relative molecular mass is only a ratio , it has

o Watch Video Solution

69. based on the relationship between the number of

molecules present in equal volumes of gases in different conditions.

o Watch Video Solution

70. If the molecular mass of a compound is expressed in grams , it is

called as

o Watch Video Solution

71.Hydrogen and Oxygen are _ molecules .

o Watch Video Solution



https://dl.doubtnut.com/l/_PrVPwzb1UYw0
https://dl.doubtnut.com/l/_IA2d3N57qHuQ
https://dl.doubtnut.com/l/_37hnBqXHKR0l
https://dl.doubtnut.com/l/_FSjfRKjxK736

72.0zoneisa ____ molecule.

o Watch Video Solution

73. If a molecule contains more than three atoms , it is called

molecule.

o Watch Video Solution

74.Hydrogen chloride is a molecule.

o Watch Video Solution

75. _ is the smallest particle of a element .

| ° Watch Video Solution


https://dl.doubtnut.com/l/_FSjfRKjxK736
https://dl.doubtnut.com/l/_KaKGJRJ2PxIe
https://dl.doubtnut.com/l/_N3mU8fi83SiV
https://dl.doubtnut.com/l/_4TSzzY0meq4k
https://dl.doubtnut.com/l/_n7cN8vikZKyh

76. is the smallest particle of an element or compound .

o Watch Video Solution

77. does not exist in free state except in noble gases .

o Watch Video Solution

78. Molecule exists in a State.

o Watch Video Solution

79. Water is a molecule.

o Watch Video Solution



https://dl.doubtnut.com/l/_n7cN8vikZKyh
https://dl.doubtnut.com/l/_OJvkudMK0a0k
https://dl.doubtnut.com/l/_veT5ZzMCCAcF
https://dl.doubtnut.com/l/_okqubxjAC9Dd
https://dl.doubtnut.com/l/_ebK52djDJHG3

80. does not have a chemical bond .

o Watch Video Solution

81. Atoms in a molecule are held by .

° Watch Video Solution

82.  denotes the number of particles .

o Watch Video Solution

8. Avogardro's Law explans

° Watch Video Solution



https://dl.doubtnut.com/l/_lM0gEWBVfgbs
https://dl.doubtnut.com/l/_ts2sCuygVxoi
https://dl.doubtnut.com/l/_xddh64ZoixKA
https://dl.doubtnut.com/l/_dOXJQn5mg1FA

84. Molecular formula of gases can be derived using _

o Watch Video Solution

85. Elements having the same atomic number , but different mass

number are called .

o Watch Video Solution

86. Average atom of an element is calculated by adding the masses

o Watch Video Solution

87. Atomicity of a monoatomic element is

o Watch Video Solution



https://dl.doubtnut.com/l/_aKrdjHnPd5TU
https://dl.doubtnut.com/l/_9BYDyde4BYiy
https://dl.doubtnut.com/l/_gsv9kxmOfmhu
https://dl.doubtnut.com/l/_HUdKWZyfoHNa

88. The standard Temperature element is

o Watch Video Solution

89.The standard pressureis

° Watch Video Solution

90. Avogardro number is named after an Italian scientist

° Watch Video Solution

91. 5 Moles of oxygen molecule contains _ molecules.

o Watch Video Solution



https://dl.doubtnut.com/l/_HUdKWZyfoHNa
https://dl.doubtnut.com/l/_w3ieA0u917Tf
https://dl.doubtnut.com/l/_YzFk0Yzl3IYy
https://dl.doubtnut.com/l/_WpUbhItl6Xhr
https://dl.doubtnut.com/l/_HF1BMHetqCzI

92. The precentage composition of a compound represent the mass

of each element presentin _ of the compound .

o Watch Video Solution

93. Avogadro's Law determine the relation between molecular mass

o Watch Video Solution

94. Equal volumes of all gases contain equal number of

o Watch Video Solution

95. Relative molecular mass =

o Watch Video Solution



https://dl.doubtnut.com/l/_QeEwQOaj61Jj
https://dl.doubtnut.com/l/_vtG3f8ou1Rdu
https://dl.doubtnut.com/l/_pRuuvhXAJekl
https://dl.doubtnut.com/l/_wNswpH377Bhp

Additional Questions Answer Use The Analogy To Fill In The Blank

1.1 Mole of atom : 6.023 x 10?3 :: Molar volume :

o Watch Video Solution

2.CO5, H50 : Triatomic :: Sg, Py: .

o Watch Video Solution

3. Isotopes of oxygen : 07, 3O :: Isotopes of carbon :

o Watch Video Solution

4. Atoms : Highly reactive :: molecules :


https://dl.doubtnut.com/l/_wNswpH377Bhp
https://dl.doubtnut.com/l/_BZdlmoxXiNOE
https://dl.doubtnut.com/l/_wDg98d3GYtiF
https://dl.doubtnut.com/l/_gOHtLRPEu5NI
https://dl.doubtnut.com/l/_lBW7Bt4dRCG4

o Watch Video Solution

Additional Questions Answer State Whether The Following Statements

Are True Or False Correct The False Statement

1. An electron has mass that is very much less than proton.

o Watch Video Solution

2.The nucleus of an atom consist of protons and electrons ..

o Watch Video Solution

3. An example of hetro diatomic molecule is CO, .

o Watch Video Solution



https://dl.doubtnut.com/l/_lBW7Bt4dRCG4
https://dl.doubtnut.com/l/_ac1gD7FMRxug
https://dl.doubtnut.com/l/_YYJSU6kATh7u
https://dl.doubtnut.com/l/_aR5RjSSErV1Y
https://dl.doubtnut.com/l/_4kv9tPtuexeT

4. The mass of the molecule of an element or compound is

measured in hydrogen scale.

o Watch Video Solution

5. Avogadro's number is 6.023 x 10~ 2.

o Watch Video Solution

6. Atoms of the same element may have different atomic mass .

o Watch Video Solution

7. Atoms can be created and destroyed

o Watch Video Solution



https://dl.doubtnut.com/l/_4kv9tPtuexeT
https://dl.doubtnut.com/l/_7oDGhgfJfGnD
https://dl.doubtnut.com/l/_vGjHSMlnKP8P
https://dl.doubtnut.com/l/_XBTWoEENZhzO
https://dl.doubtnut.com/l/_vEBI4H0ivz4K

8. relative atomic mass is expressed in grams .

o Watch Video Solution

9. Atom does not have chemical bond

° Watch Video Solution

10. an atom is no longer indivisible .

o Watch Video Solution

11. anything that has mass and occupies space is called matter .

o Watch Video Solution



https://dl.doubtnut.com/l/_vEBI4H0ivz4K
https://dl.doubtnut.com/l/_c1jkD0TlbztC
https://dl.doubtnut.com/l/_9I8GViiVAKjk
https://dl.doubtnut.com/l/_dM0IXHg8yG73

12. The mass of macroscopic materials is litre .

o Watch Video Solution

13. Chemist measure atoms and molecules in Kilogram .

° Watch Video Solution

14. Atomicity of a monoatomic element = molecular mass/Atomic

mass.

o Watch Video Solution

Additional Questions Answer Assertion And Reason



https://dl.doubtnut.com/l/_aoOI7Bs14Tfq
https://dl.doubtnut.com/l/_6EgpWkeVf9AL
https://dl.doubtnut.com/l/_WwNEP1gljr1l

1. Assertion : An atom is electrically neutral. Reason : Atoms have

equal number of protons and electrons.

A. Both assertion and Reason are true and Reason is correct

explanation of assertion

B. both assertion and Reason is not the correct explanation of

assertion

C. Assertion is false but reason is true

D. Assertion is true but reason is false

Answer: A

o Watch Video Solution

2. Assertion : Atomicity of nitrogen is 2

. .. Molecular mass
Reason : Atpmicity =

Atomic mass


https://dl.doubtnut.com/l/_k9MjFOEaNVDH
https://dl.doubtnut.com/l/_K9vgONNg6J13

A. Both assertion and Reason are true and Reason is correct

explanation of assertion

B. both assertion and Reason is not the correct explanation of

assertion

C. Assertion is false but reason is true

D. Assertion is true but reason is false

Answer: A

o Watch Video Solution

3. Assertion : atomic masses of elements are whole numbers .

Reason : atoms of the same element exist as isotopes .

A. Both assertion and Reason are true and Reason is correct

explanation of assertion


https://dl.doubtnut.com/l/_K9vgONNg6J13
https://dl.doubtnut.com/l/_DU3zarMNkduu

B. both assertion and Reason is not the correct explanation of

assertion

C. Assertion is false but reason is true

D. Assertion is true but reason is false

Answer: C

o Watch Video Solution

4. Assertion : Molecular weight of SO, is double to that of Oy

Reason : one mole of SO, contains double the number of molecule

present in one mole of O,

A. Both assertion and Reason are true and Reason is correct

explanation of assertion


https://dl.doubtnut.com/l/_DU3zarMNkduu
https://dl.doubtnut.com/l/_9zPtZRf3AVhA

B. both assertion and Reason is not the correct explanation of

assertion

C. Assertion is false but reason is true

D. Assertion is true but reason is false

Answer: D

o Watch Video Solution

5. Assertion : 1 mole of Oy and N, occupy 22.41 at S.T.P

Reason :Molar volume of all gases at S.T.P has the same value .

A. Both assertion and Reason are true and Reason is correct

explanation of assertion

B. both assertion and Reason is not the correct explanation of

assertion


https://dl.doubtnut.com/l/_9zPtZRf3AVhA
https://dl.doubtnut.com/l/_5UKu8tLcKTsd

C. Assertion is false but reason is true

D. Assertion is true but reason is false

Answer: A

° Watch Video Solution

1
6. Assertion : one amu of an atom equal to exactly — of mass of
12

C-12 atom .
Reason :Carbon - 12 isotopes was selected as standard.
A.Both assertion and Reason are true and Reason is correct
explanation of assertion
B. both assertion and Reason is not the correct explanation of
assertion

C. Assertion is false but reason is true


https://dl.doubtnut.com/l/_5UKu8tLcKTsd
https://dl.doubtnut.com/l/_noI0iXcP4bUb

D. Assertion is true but reason is false

Answer: A

o Watch Video Solution

7. Assertion : Atomicity of sulphur is 8

Reason : 1 mole of an element contains 6.023 x 10> atoms .

A. Both assertion and Reason are true and Reason is correct

explanation of assertion

B. both assertion and Reason are true and reason is not the

correct explanation of assertion

C. Assertion is false but reason is true

D. Assertion is true but reason is false

Answer: B



https://dl.doubtnut.com/l/_noI0iXcP4bUb
https://dl.doubtnut.com/l/_qPO3kNlKedw2

o Watch Video Solution

8. Assertion : 81 g of Aluminium contains 3 x 6.023 x 10?* atoms
Reason : the mole is defined as the amount of substance which
contains Avogadro's number of particles .
Reason : 81 g of aluminum contains 3 moles of aluminum , which will
contain 3 x 6.023 x 10?® atoms.
A.Both assertion and Reason are true and Reason is correct
explanation of assertion
B. both assertion and Reason is not the correct explanation of
assertion

C. Assertion is false but reason is true

D. Assertion is true but reason is false

Answer: D

| |


https://dl.doubtnut.com/l/_qPO3kNlKedw2
https://dl.doubtnut.com/l/_oTskqsRZRyaE

I & View Text Solution ]

9. Assertion : Homoatomic molecules are made of atoms of the same
elements
reason : H,O consists of hydrogen and oxygen

A. Assertion is right Reason is wrong

B. Assertion is wrong Reason is right

C. Reason explain Assertion

D. Reason does not explain assertion

Answer: D

o Watch Video Solution

Additional Questions Answer Find The Odd One Out



https://dl.doubtnut.com/l/_oTskqsRZRyaE
https://dl.doubtnut.com/l/_Ixrx7pZOdwkP

1.N,, CH,, SOs, H,O

o Watch Video Solution

Additional Questions Answer Answer In A Word

1. Which is the smallest particle that takes part in a chemical

reaction ?

o Watch Video Solution

2. Who proposed that volume of a gas at given temperature and

pressure is proportional to number of particles?

° Watch Video Solution



https://dl.doubtnut.com/l/_w9HRx7j31gDv
https://dl.doubtnut.com/l/_sP6SoDlsjZVB
https://dl.doubtnut.com/l/_q6FlSEu1HxI9

3. Atoms of same elements with same atomic number are called

o Watch Video Solution

4. Number of atoms present in polyatomic molecules .

o Watch Video Solution

5. Give an example for monoatomic molecule .

o Watch Video Solution

6. Give an example for diatomic molecule/

° Watch Video Solution



https://dl.doubtnut.com/l/_JROsiYU1Ltm5
https://dl.doubtnut.com/l/_DoKllziWomt5
https://dl.doubtnut.com/l/_NsjXCSffXjAW
https://dl.doubtnut.com/l/_ePGjMUAPH1A6

7. Give an example of triatomic molecule.

o Watch Video Solution

8. Give an example for polyatomic molecule.

° Watch Video Solution

9. Molar volume of a gas at standard temperature is

° Watch Video Solution

10. Compounds which contains one or more atoms is called

° Watch Video Solution



https://dl.doubtnut.com/l/_kDfFCLWOWCJr
https://dl.doubtnut.com/l/_KNB0LYkyw7Ub
https://dl.doubtnut.com/l/_ATU4H6s6Iq1e
https://dl.doubtnut.com/l/_MRoFbb75sBLd

1. molecules are made up of atoms of the same elements .

o Watch Video Solution

12. molecules are made up of atoms of different element .

° Watch Video Solution

13. How many number of atoms are present in a hydrogen molecules

?

o Watch Video Solution

14. Molecular mass is the sum of

° View Text Solution



https://dl.doubtnut.com/l/_4XKN1PeaciWC
https://dl.doubtnut.com/l/_tgxR6kaot0Nv
https://dl.doubtnut.com/l/_DjD4KHZ4zj4s
https://dl.doubtnut.com/l/_TOjeAcBNz8lR

15. Relative molecular mass of a gas

o View Text Solution

16. Vapour density =

° View Text Solution

17. Gram molar volume =

o View Text Solution

Additional Questions Answer Very Short Answers

1. What are nucleous ?

| o View Text Solution


https://dl.doubtnut.com/l/_N0nVN9JthCaz
https://dl.doubtnut.com/l/_XR28r0xS9XgG
https://dl.doubtnut.com/l/_9I5TGu2eddsO
https://dl.doubtnut.com/l/_q2rdyvq87Tf3

2. Define atomic mass unit u.

° Watch Video Solution

3. Measurement of atomic mass of an element is very diffcult ? Give

reason.

o Watch Video Solution

4, Define average atomic mass (AAM ).

° View Text Solution

5. Relative atomic mass has no unit . Explain ..

| o A\l msar Tk Caledlam


https://dl.doubtnut.com/l/_q2rdyvq87Tf3
https://dl.doubtnut.com/l/_QwbjeTtAUuBA
https://dl.doubtnut.com/l/_95KZHVDoRKJH
https://dl.doubtnut.com/l/_hzQTbtxSu0J2
https://dl.doubtnut.com/l/_orSUHFDTRoFv
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6. What is a molecule ?

o Watch Video Solution

7. What is homoatomic molecule ? Give two examples .

o Watch Video Solution

8. What is a heteroatomic molecule ? Give two examples .

o Watch Video Solution

9. Give an example of homotriatomic molecule.

o Watch Video Solution



https://dl.doubtnut.com/l/_orSUHFDTRoFv
https://dl.doubtnut.com/l/_oosrQKk8ZJux
https://dl.doubtnut.com/l/_kYCsphQbZNLR
https://dl.doubtnut.com/l/_fmvVp7PsAG90
https://dl.doubtnut.com/l/_8LdjyF0EORHW

10. What is a polyatomic molecule ?

° Watch Video Solution

11. Define mole .

° View Text Solution

12. Sate aVogadro's Hypothesis .

o View Text Solution

13. Define vapour density .

o View Text Solution



https://dl.doubtnut.com/l/_8LdjyF0EORHW
https://dl.doubtnut.com/l/_NmQPE4bG0iaQ
https://dl.doubtnut.com/l/_cTDccCvknEY4
https://dl.doubtnut.com/l/_fZmDn1gWjq5i
https://dl.doubtnut.com/l/_uV9BhMEavRT5
https://dl.doubtnut.com/l/_9DPfCFx1tRvU

14. What is gram atomic mass ? Give example ?

o View Text Solution

15. How will you deduced atomicity of Homoatomic molecule ?

o View Text Solution

16. What are isotopes ?

o Watch Video Solution

17. Define atomic mass unit (amu ).

° View Text Solution



https://dl.doubtnut.com/l/_9DPfCFx1tRvU
https://dl.doubtnut.com/l/_fnuPKPvAhvOG
https://dl.doubtnut.com/l/_3U1x2VFSIN8W
https://dl.doubtnut.com/l/_X27Gl28zLDNE

18. What is gram molecular mass ?

o View Text Solution

19. Define mole.

° Watch Video Solution

Additional Questions Answer Short Answers

1. Give the applications of Avogadro's hypothesis .

o Watch Video Solution

2. Pick out the heteronuclear polyatomic molecules among the

following and classify them based on their atomicity .


https://dl.doubtnut.com/l/_K7k6rAGefAJi
https://dl.doubtnut.com/l/_z4KaCC0zmVWi
https://dl.doubtnut.com/l/_O5gFQFeOsPIH
https://dl.doubtnut.com/l/_uTfiUMQG4zXQ

C¢Hy9, OgPy, Cly, NH3, HCI, N;COs, O3, NH,CI, CaCO3, Oy, SO,

o View Text Solution

3. List difference between atom and molecules .

o Watch Video Solution

4. Calculate the gram molecular mass of the following

CHy

o Watch Video Solution

5. Calculate the gram molecular mass of the following

CO,

o Watch Video Solution



https://dl.doubtnut.com/l/_uTfiUMQG4zXQ
https://dl.doubtnut.com/l/_MtZjCrJXIxCT
https://dl.doubtnut.com/l/_RbnZtQe529QF
https://dl.doubtnut.com/l/_yLx2vxMyov0l

6. Calculate the gram molecular mass of the following

NH,

o Watch Video Solution

Additional Questions Answer Long Answers

1. How will you determine the atomicity of gases using Avogadro's

hypothesis ?

o View Text Solution

Additional Questions Answer Numerical Problems

1. Find the gram molecular mass of carbon dioxide (CO,).

o Watch Video Solution



https://dl.doubtnut.com/l/_UQyasVCQkhlP
https://dl.doubtnut.com/l/_2Yvxg04mi7bW
https://dl.doubtnut.com/l/_q4NmDKt3TuTW

2. Calculate the number of moles in 81 g of Aluminum .

o Watch Video Solution

3. Calculate the number of moles in 2g of NaOH .

o Watch Video Solution

4.Find the mass of 2.5 mole of oxygen atom .

o Watch Video Solution

5. Calculate the number of molecules in 11 g of CO,

° Watch Video Solution



https://dl.doubtnut.com/l/_q4NmDKt3TuTW
https://dl.doubtnut.com/l/_ukIjZEOOW123
https://dl.doubtnut.com/l/_S32LjNBp9tum
https://dl.doubtnut.com/l/_kkHl8K6FKBwt
https://dl.doubtnut.com/l/_Mm01mEcvDJJp

Additional Questions Answer Higher Order Thinking Skills Hots

1. Composition of the nuclei of two atomic species X and Y are given

XY

Proton 8 8
Neutrons 8 10
Give the mass number of X and Y . What is the relation between the

two species ?

° Watch Video Solution

2. Why does not the atomic mass of an element represemt the

actual mass of its atom ?

° Watch Video Solution

3. The atomic mass of an element is in fraction . What does it mean ?



https://dl.doubtnut.com/l/_Df2gF07w9o78
https://dl.doubtnut.com/l/_Dvfjjt3i1Eiz
https://dl.doubtnut.com/l/_Ger5TVsMhL1s

o Watch Video Solution

4. Why is the value of Avogadro's number 6.022 x 10?* and not any

other value ?

° Watch Video Solution

5.Does one gram mole of a gas occupy 22.4 | under all conditions of

temperature and pressure ?

° Watch Video Solution

6. Silicon forms a compound with chlorine in which 5.6 g of silicon is
combined with 213 g of chlorine .Calculate the formula of the
compound .

( atomic mass Si =28 : Cl| = 35-5).



https://dl.doubtnut.com/l/_Ger5TVsMhL1s
https://dl.doubtnut.com/l/_SXjSkpszve8N
https://dl.doubtnut.com/l/_CkwNVYiztESO
https://dl.doubtnut.com/l/_oAMkJvocJ7WW

Watch Video Solution

7. On analysing an impure sample of sodium chloride , the
percentage of chloride was found to be 45.5 what is the percentage

of pure sodium chloride in the sample?

° Watch Video Solution



https://dl.doubtnut.com/l/_oAMkJvocJ7WW
https://dl.doubtnut.com/l/_86XAx7bQsyA5

